| Efficiency vs Dxy |

P

efficiency vs dx

Ratio

0.8

o
\‘

l L

—20 -15 10 -5 10 15 20
TP dxy (cm)

o
; e
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-
o

=
LI (L R
-
4
-
>
-

—=— DQM_original_stepZ_tibar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

| Efficiency vs Dz | —— DOQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom

efficiency vs dz

Ratio

0.8 —+— DQM_pixelCPETemplateCutChiSquareNew?2_step?2_ttbar-phasel-newgeom

o iy S S SO SR
0.6
0.5
0.4

0.3

| TTTT | TTTT | TTTT | TTTT | TTTT | TTTT

0.2

0.1H| 4t

-1 TTTT
_—.—L-
et
P, ST RRERRE
= :
e
—_——
e
g :
.—..H.‘..
e :
L et
e

L)
H ae| |+ b B
o T B 5
s -sp- - e e g - -t L) I SRt - -saiaecdd
8 ¢+t £V S 5
2 : i B

0953520 —i 010 20 30

TP dz (cm)




	Contents
	Page 1


